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81 W & Al IT9ehT 37T IRedied X & Suef
You have been called for the written test based on the online data fumished by you in the web application, If you have
wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,

your candidature will be rejected
2. oder gter F Adere fr 3ufeufa & & v gid-fese W eeder #=r aifgu)

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. UREA-U, 80 TR F FeobeT TRA-YREcHhr & ®U A § 3R odiem i afr 02 g ¥ |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4. 9P Ie A v g@dr wfer Afea 3reeT INTHINR Seav-giedan & set

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. UAF U FTAT 04 3w g 3R TAF T 3cak FTAT UF 3 HIET ST |

Each question carries 04 marks and one mark will be deducted for each wrong answer.
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10.

11.

12.

13.

14.

15.

St g Y 7 AR ed-gfta Aot FE (@RS, HTANR Sear IReqe W fAfdve T o

o g 91|
Question booklet series code (AIBIC/D/E) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

wa-g%aarﬁmdm HalTS-Ioinich PAEARTSECH|

Enter your Name and Roll Number correctly in the question booklet.

HTANR Seaat-qfeast & ws sfafeat sfelamel Fadh & afer a5 91 F € 1 Sl =t
All entries in the OMR answer sheet should be with blue/black ball point pen only.

mﬁwﬁaﬁa@w%mamﬁmﬁ#%wmmﬁwml

The questions will be objective type with four options out of which only one will be unambiguously correct.

TR, Sea-JiecraT 7 U 7T el & 38N, A/l TS & el gge 9 d HITAIR Iecd-
Wﬁﬁmmﬁmwmmwmmm

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

T Y2 & foIT 37eieh Scclk ITeldd ATAT ST |

Multiple answers for a question will be regarded as wrong answer.

b, At Ife e L

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

&t qof Bl T, HITHHR Sea-g e P 9 & Ses e & $1E I Hel HTANR SeaT-GedH
rfieres @t HY g ggdl wfa 3as o |

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you. '

q&ﬂ-gmmzﬁaqﬁwwmﬁt

The question booklet can be retained by the candidates.

e & S 62 3 e 37T Ry aveT el oise 1 3TAT e ¢

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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STFcEA-d1 AT (1305)/DRAUGHTSMAN-B MECHANICAL (1305)

AAANHN(FATSAATE) T 3YATIT & T gar g1
Clinograph is used for

(a) VN & AT T A=I/measuring and setting the angles

(b) IREUT H TGS FT/ink work on drawings

(c) &fdsT IW@T & 3IRWUT/drawing horizontal lines

(d) 3fd 9 FATR I@T & HRGVUT/drawing parallel lines at inclination

e faem gl
Superfluous dimension is a

(a) 9Ty fdAT/functional dimension

(b) W&IUT fdAT/feature dimension

(c) 3HATaTS fdAT/un-necessary dimension
(d) @ faAT/chain dimension

Arfaf@a A & sla-d@r g woddd & de9u & T &2

Which among the following statement is correct about LVDT?

(@) oI i ﬂ?.'.:{la?{ faTe & Scaar &/converts pressure into electrical output
(b) ﬁfﬁ' Ca) aa:g?r faete & Seaar &/converts strain to electrical output

() Y&+ farums «r QE:{IDH e # SgAar &/ converts linear displacement to electrical
signal
@ 39dFd Fall of these

F3 FT #H ydfed gfasgor (RAfew AsfeT) v gomel &1 39Aer war § oud
faaTT T =T R §

Parametric modeling in CAD programs utilise a system in which the dimensions control the

(a) HAISA & FAY g 3HHR/size and shape of the model

(b) AT F Tl IaT0T/perspective features of the model

(c) #HAse & AT & faw 39gFd BIATHVT/shading used to render the model
(d) 39GFT Tl the above
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CofaT WATIT &1 39T & faw grar gl
Use of plug gauge is ‘

(a) &b 99 & HIYeI/to measure screw threads

(b) T o HAYsI/to measure angles

(c) JEATHR T TTH & HUeA/to measure cylindrical bores
(d) I fal & ATge/to measure spherical holes

gl & RN A & 32T AT A IUGFT TF HONT TB

An angled surface used on cylinders to make them easier to handle

(a) fhelc/Fillet (b) <CI/Taper

(c) FaT/Chamfer (d) ®E/Lug

T Al A J 3T FET A AR

Acceptable parts must not extend beyond this

(a) YREAVBoundary limits (b) g H#AHole limits
() fafR&ua/Specification (@ @fEsurl/Tolerances

maﬁ@mﬁm@rmmﬁﬁvﬁmmwﬁ

Exact size from which the limits of size are determined is

(a) aTEafas THTG/Actual size ~ (b) TAfAT 3METY/Dimensioned size
(c) 3cUIgsT 3THTI/Production size (d) Iy TATY/Basic size
AfgsoTar & for RfAEs g

2

Tolerance are specified

(a) aifdad e g1 FTA/to obtain desired fits

gl

el

(b) FitFE Fared T & T Hator gaa FE § because it is not possible to manufacture

exact size

(c) 3=d QTQ__,IEFII/?RITﬁHT RIGE] {ai/to obtain high accuracy
(d) 3T 3HTAT F/to have proper allowance

4
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fBg-dwe gumelr H e & H7S6 & ® A ARfdse frar mar & fe &1 yaR

gl
The fit on a hole-shaft system is specified as H7S6. The type of fit is
(a) TaIshras fha/clearance fit (b) YOURT fhe/running fit
() 9 fhe/push fit (d) & fhe/force fit
deR Al A ISES HIY FrIROTAAT gl

The longitudinal joint in a boiler shell is usually

(@) g df/Butt joint

(b) oI FfI/Lap joint

(¢) ar Hraxur ufgsr & Ay g AfA/Butt joint with two cover plates
(d) Teh HTSIOT qfgahr & ATY dF TfO/Butt joint with single cover plate

g% 9g # enfAe Sor gl

In a curve thread, the included angle is

(@) 55° (b) 60°

(c) 29° | (d) 56°

9E3H UT & 39T a9 giaT § A9 FaAl @ fGam & FTRa T g

Buttress thread is used where power is to be transmitted in
(@) U fGem/one direction

(b) ar f&emu/two directions

(c) ar=r f&emsit H/both the directions

(d) 3'C|'{13‘?I' qA $g Tai/none of the above

oifS 1 e PR & 3 S G JTEwT § A e & e B

Which of the following key is under compression rather than in being shear when under load?

(a) HSe/Saddle (b) dT/Barth
(c) WEI/Feather (d) heAS/Kennedy
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15. Tqdfdealc & feam & g FIRA T o

Tangent key transmits force in
(2) TS f&2T/one direction (b) ar fgart/iwo directions
(c) @ fEemHT Hithree directions (d) 3'CI?§3'?T p=g: O #gi/none of the above

16. Eraafag #F ¥ #la-ar T W@ JART §?
Which of the following is self aligning bearing?
() F/Conical
(b) ¥eird/Spherical
(c) HIdA/Rectangular
@) FEFTHE #1$ Ei/None of the above

17. fra g, ¥ Rg o & v fig & e
Pitch point is the point on the cam pitch curve having the
(@ YI FI0T/zero pressure angle
(b) TIFGH G HIVT/minimum pressure angle
(c) 3HfOhdA GI§ HIVT/maximum pressure angle
(@ Q=T COES AES A6 %‘lthere is no such criterion

18. ﬁmﬁr@aﬁﬁﬁamaﬁa—mmwﬁmﬁmuﬁmﬁgwa@uﬂﬁ%ﬁv

[EAT 39T g7
Which of the following types of threads would be best suited for applications involving high stresses
in one direction?

(@) au/agyd Yd/Buttress threads

(b) a1 dd/Square threads

() 3erforad/eerhel Far/Knuckle threads
(d) &-YA/V-threads

19. Prfar@a & § Hla-ar wwee 9987
Which of the following is trapezoidal thread?

(@) A f&ig/Acme (b) @d/Square |
(c) W ET/AY/Buitress (@ 39dad FHAL of the above
A 6 | 1305/16



20. HHAITAT V-doc & 1fA IoT gl
The included angle for V-belt is usually
(@) 50° (b) 40°
(c) 60° (d) 55°
21. @3 T # Q@T 717 d&e dlees & AR, dee & fawrE |
For the bracket bolted as shown in the load figure, the bolts will develop
Bracket
2
® °
k::3
P &
(@) Y ddel Ufaed @ aﬁ?ﬁﬂ' YFIUT gfAeel/primary tensile stresses and secondary
shear stresses :
(b) Uger IRYUT T Efacd IHIEYUT Yidsael/primary shear and secondary shear stresses
(c) Yga HUY®YUT gfdee 9 gfada deiet gfaedl/primary shear stresses and secondary
tensile stresses
(d) Yg T Uided § Ay ddse Yfdde/primary tensile stresses and secondary
compressive stresses
22. faspfa gard & & faT 3T yATd Ui A gl aIfevl
Strain gauge should have a high value of gauge factor
(a) A¥eT g " %@’to reduce hysteresis effect
(b) 3IFIugEFd ﬁfﬁ td gfauyr gRada & % A9 s5=/to give linear relation
between applied strains and resistance change
(c) {T\&'ﬂ?l'lﬁFIT Crar %‘(‘:I_;/to increase sensitivity
(@) 9R@Ey g # feTer yWE Fr e AT ﬁ?_j’"«_d F %Ho/to reduce or eliminate the
effect of variation in ambient temperature
23. ¥g ITUd A A gl
Mild steel contains
(@) 0.7 to 1.5% FeaT/carbon ()  0.05 to 0.25% FHIeel/carbon
(c) 3 to 3.75% Pleei/carbon (d) 39dFd A { FI$ Fei/none of the above
A 7 1305/16



24.

23.

26.

2%

o 3Ry 3 desa H gt 1 3gheT AT ST gl

gases are used in Tungsten inert gas welding.

(a) 3T g Eifera#A/Argon and helium

(b) EfeTA @ Arale/Helium and neon

(c) REEEGEC] fAae1/Hydrogen and neon

(d) FET SAFESS T gIgaraa/Carbon dioxide and hydrogen

% Y@ ¥ 1Y PR gaen el Y@ & 3T ¥ faT g r gl

Continuous thin straight line with zig zag is used for
(a) gequT IWM/projection line (b) HIT TdT/leader line
(c) & fauA IW@T/long break line (d) el Tolel/cutting plane

m?mWwamqﬁMama@quﬁmm%luﬁmﬁm
aﬁmmqﬁwaﬁwmqﬁmﬁwamM———ﬁw%l

Bending moment M and torque T is applied on a solid circular shaft. If the maximum bending stress
equals to maximum shear stress developed, then M is equal to

(@ T2 ) 'T
). 2T (d) 4T

mw%%mﬂa%ﬁw@mmﬁﬁm‘d’%wmﬁwm
e T ——————— i

" Ghear stress distribution diagram of a beam with rectangular cross section of depth ‘d’ subjected to

central loading will be

8 1305/16



28.

29.

30.

31.

Oy & R@T 717 500N 8R #7577 Fead ¥ @afed fFar 737 &) a) BC & a9 &y
%G|

A 500 N weight is suspended by flexible cables as shown in figure. Find the tension in wire BC

(a) 233N (b) 333N
(c) 433N (d) 643N

GeTHT 10 kg &1 U T3, S Im/s& 39T F o @1 & W & 9% & BT 50N 7 a9
STl ST g1 AT a1 —— gham|

A body of mass 10 kg moving with a velocity of 1 m/s is acted upon by a force of 50 N for two
seconds. The final velocity is

(@ 22m/s (b) 1m/s
(c) 21m/s (T hmils
TF IR $r 3uaeft g —— & |@# T B

The working depth of a gear is equal to
(a) ToswEa ged Td UsssH ded & &/ & E@'/Distance between clearance circle and

addendum circle

(b) USesH + f33+8A/Addendum + dedendum
(c) UswsH — f33+3#/Addendum — dedendum
(d) mﬁaa H & FIg AEI/None of these

AR s a R Fad — F gaRa

Motion from a gear box to differential is transmitted through
(a) 3iFIfed/aehe F/Knuckle joint

(b) &F HA/Hook’s joint

(c) AT é(%%T/Connecting rod

(d) 3NeSH FaA/Oldham’s coupling

9 1305/16



37

38.

39.

40.

41.

Wases e — & fv 39T fer S g

Splined shafts are used for

(a) R Tug/Impact loads

(b) HYA HFAMYUT/absorbing vibrations

(c) % T 7 & ora T HENT dTel/axial movement between shaft and hub
(d) 3TT deheT Ufagel/high bending stresses

RiceFagd) scecFraRE O FITFRITT —

The relation between the diameter of the rivet (d) and the plate thickness (t) is

@ d=24t (b) d=3t
) d=4t , @ d=6vt

wﬁﬁw@r?ﬁﬂaﬁﬁnm,mmahm%laaﬁﬁwW—%l

Three sides of a triangle are 3 cm, 4 cm and 5 cm. Then the triangle is a
(a) THST FFIUIRight angled triangle

(b) Hﬂ?.{ﬁ'@l’lg feRIoT/Isosceles triangle

(c) fatmang IoT/Scalene triangle

(d) THAFPIONT ARIVI/Equilateral triangle

fafof@a # & RfFEa 3m@or ofie &1 AFs 3m$R Sla-ar #7857 82
Which one is not the size of a standard trimmed drawing sheet?

(a) 841 x 1189 (b) 420 x 596
(c) 210x297 (d) 297 x 420

frfaf@a # & 39 aqis & 7 Fad Fas @ @ 100 A o vw For
45° Bl

Name the quadrilateral where all sides are 100 mm and one angle is 45°

(a) Eﬁﬁ'/Square (b) 3TIdA/Rectangle
(c) |HCR UHI/Parallelogram (d) FAGIHS/Rhombus
11 1305/16



37. Tellses e — & AT IgAeT T S §

38.

39.

40.

41.

Splined shafts are used for

(2) R Fgg/Impact loads

(b) FUA 37a2M9UT/absorbing vibrations

(c) e g g9 & &I T 37efT Arel/axial movement between shaft and hub
(d) 3Tg T Qﬁaﬂ'/high bending stresses

RAcF g (d) e A A ) F AT FT HaT ——— §)

The relation between the diameter of the rivet (d) and the plate thickness (t) is

() d=24t (b) d=3t
© d=4t (@ d=6vt

Wﬁ'ﬂﬁﬂﬁ?ﬁﬂ'ﬁi‘éﬁ'@3cm,4cma 5cm gl d9 BT v —————— B
Three sides of a triangle are 3 cm, 4 cm and 5 cm. Then the triangle is a

() TFHS fRIoT/Right angled triangle

(b) waj%a@ ﬁ&'foT/Isosceles triangle

(c) ﬁm@ ﬁEﬁUT}Scalene triangle

(d) FHESUNT FARI0T/Equilateral triangle

feafof@a & @ AT 3m@ur die 1 A= 3eR Sa-ar 78 &
Which one is not the size of a standard trimmed drawing sheet?

(a) 841 x 1189 (b) 420 x 59
() 210 %297 (d) 297 x 420

fAefaf@a & @ 39 aglsr & 7\ saw oas @i @ 100 B qur & &
45° ¥l

Name the quadrilateral where all sides are 100 mm and one angle is 45°

(a) @I/Square : (b) 3TAd/Rectangle
() THAT il?ﬁiﬁf/l’arallelogram (d) W@H/Rhombus
11 1305/16



42.

43.

44.

45.

46.

100 L. & curg ¥ U ged WOV Y @ gd ———— F AT &l
Effect of ‘stretch’ command on circle of dia 100 mm is to

(Y

(@) 100 f&A.a. ¥ S AL = & Y ded =l dltiq_cd 8 SITATI/Circle becoming

ellipse with major dia greater than 100 mm
(b) ged @I &7 ded &1 SITe1/Circle becoming bigger circle
© 100 A ¥ §ea Y AW F WY Joad H GEged & SeATl/Circle becoming

ellipse with minor dia greater than 100 mm
(d) ded AT # IS gHIG Ag1/No effect on circle dimension

siferhE ¥ B3 S & Bwfec X: Y 36U ———— &
The default X : Y ratio in grid zone of autocad is

(a) 10:10 (b) 8:12

(@) 1219 @ 9:12

3@ dare & AT @ ———|

A Construction line of infinite length can be

() UF P A & f&F A1 1 Fevell g/trimmed from one end only

(b) o = A &I S Thdr g/trimmed from both ends

(€ Toepd fe| 8T ST ST Hehcil/cannot be trimmed at all

@ Ao @ | feA &I JT HhdT g/can be trimmed with construction line only

siteibe & 100 P, O T s ged 10 AL gl q@wr sfdee ¥ ged @

B ———— %l

A circle of 100 mm dia is ‘offset’ by distance 10 mm in Autocad. The possible radius of the circle is
(@ 90 (b) 45

(c) 475 (d 525

RYAT 1x bxh & AT T9F & gl §56 & Fafda &F ———F

Developed area of the outer surface of a rectangular box of dimensionl xb xh s

(@ l+b+h (b) 2(0+b+h)

(¢) 2(I1xb+1xh+hxb) (d Ixbxh

12 1305/16



47.

48.

49,

50.

Ush G HP ¥ HAd JUT VP & TATR & W1 Hf aeafdsd das —— @
[GEIECES

A line is inclined to HP and parallel to VP. Then the true length of a line is represented in

(a) <«IRM/Plan

(b) 3eeIdel/Elevation

(c) T uIRd TST/Left side view

(d) Ef&UT 9Ted TSA/Right side view

Ifg aca sEara & fear ¥ fafea fFar Jar § ar 3iease —— & oREfda
gl Tl

If hot steel is cooled rapidly, the austenite changes into

(a) URTSC/Ferrite (b) UdlTSc/Pearlite

(c) HFTEFTTST/Martensite (d) B W@'/Hyper eutectoid

e B % R A e ¥

Tempering in steel is done to

(a) THAdT FITeV/increase toughness

(b) T ATHT T qﬂﬁf_ﬁ &a/refine grain size

() #FMNAAIar & Qfla'?J'IT &=1/to improve machinability
(d) foerdor 9faRIer & Se=/increase wear resistance

HJEFHB#CH dec 339 H doc ol MG ATHT d ATVeT AT FHHEA: 2000 N T 1000 N Bl

do¢ A 120 m/min g1 YoMl GaRT aTg & FaORd Fal —— &

In an open belt drive, the tight and slack sides of the belt loads are 2000 N and 1000 N respectively.
The belt speed is 120 m/min. The power in Watts transmitted by the system is

() 1000 (b) 2000
() 3000 @) 266
13 1305/16



31

52.

ﬁ?ﬁWWW,A—AWMﬁHSXIOW%WW—M#W

10 20 3% TAEEERT IRET @S ¥ w5 &1 ey 4 ————— ¢

The area moment of inertia of a symmetrical rectangular section of 10 x 20 with a central cutout of

8 x 10 size as shown in figure about the A — A axis is

_A 10| [0 A
8
10
(2 80,000 (b) 88,000
© 50,000 @ 60,000
'ﬁaﬁmwﬁ%mdﬁ(CS)ﬁﬁdﬂﬁmﬁmlmmmm——-—%l

The CG of a symmetrical I section with respect to the coordinate system as shown in figure is

— 5 —

Z

2
—P — 10
vt
I
X ‘
< 15 —
@)  (15:53) () (15,10)
© 5,75 @ (7.5,5)
14 1305/16



33,

54.

55.

56.

10 cm ${STGTel U 0 & g A 5 om IR & 8% F 99 g0 ww oo §1 afy wqred @
TTcd 5 gm/cc Al U T GEIHART FAT §27 g = 10 m/sec’.

A Cube of side 10 cm has a square through hole of 5 cm size at its centre. What is the mass of the
cube if the density of the material is 5 gm/cc? g = 10 m/sec?.

(a) 375gm (b) 10000 gm
(¢) 3750 gm (d) 37500 gm

%mmﬁm%ﬁvﬁmﬁ@aﬁ@%hm%%mm@

Which of the following belt is used for low power transmission?
(@) Welc Sec/Flat belt

(b) 33 doT/Round belt

(c) dr dec/Vee belt

(d) #HeEr aqecs dec/Multi-grooved belt

I doc Fgd H, TRETew & g g aRafad Jear $T e 4r g

For a cross belt drive, what will be the direction of rotation of driver and driven pulleys?

(a) GHATT f&2A H/In same direction

(b) TTOT f&=m FH/n opposite direction

(c) YT § Feantr H‘Pﬁ?{ g giarfea g?o'h' # dfas E(;US{FI'/Vertical rotation in driver

and horizontal rotation in driven pulley

(d) uRares 7 Sfas ﬂ;UiFI' g gRarfera gcv_eﬁ' H FEaer E[\UiT-I'IHorizontal rotation in

driver and vertical rotation in driven pulley

siferhe #, Pefafla # @ Fa-r B 3% ¥ smEor & [l w8 &2
Which of the following is not a method for drawing an arc in Autocad?
() %, ASA/Centre, radius
(b) IRHA, Fg, SI0T/Start, centre, angle
(c) 3IRA, 37", ASAVStart, end, radius
(d) g, HRHSA, FIT/Centre, start, angle
15 1305/16



37,

58.

28

60.

61.

frfafad & @ sia-ar 7o ame 78 2

Which is not a fundamental unit?

(a) GTHATA/Mass (b) ETS/Length
(c) THI/Time (d) Fe/Force

g9 & 3F FIF F UgAld o/ e S gen oar g $Aeic dled Tl AT § ar
SUST G g & AT fAfds #F gw sar ¥

Identify the stroke of the engine when the piston moves down, inlet valve opens and mixture of fuel
and air enters the cylinder

(a) =T RjEF/Compression stroke (b) Far TCIH/Power stroke

(c) TMUT TUT/Suction stroke (d) TI% TOT/Exhaust stroke

0% et | geard ——— )

Steel with 0% carbon is

(a) ‘?IT{II’Q'E/F errite (b) ﬁﬂﬁé?."/Pearlite

() QfllﬁrEEE/Cementite (d @I Hf?ﬁﬂgﬂiypereutectoid

3T H, MIRRTEXT &I 390197 R doFd ST9 dF IREd=Tefeldr 1 9T AT ST

dd 3R ‘A —————F 9 7 yshe gHm|
In Autocad, when the system variable is set to 1 while using MIRRTEXT, the alphabets ‘Ad’ will
appear as

@ Ad b) dA () AP (d bA

DXF S5 & 7 # 3Helhs R@0T & AT Fet & FROT — ¥

The reason for saving an Autocad drawing as .DXF file is

(a) DXF Bigd fhal o 37 &2 Hivca® & @t a7 aa»—cfr £1/The DXF files can be

opened in any other CAD software
(b) DXF WISeT A SIHIE oidT &/DXF files takes less space

(c) DXF WS UH TH g8 & @iell o7 THhar £ I/DXEF files can be opened in MS Word
(d) DXF B3 3MEIhE & WA FcRk H Eell ST Fevell EVDXE files can be opened in old

versions of Auto cad
16 1305/16




62.

63.

64.

65.

66.

Fifeteh TRA H JARITIR/BREAT IIod e & fav 7 o
aIfg T

To get a hyperbola in conic section, the section plane must be

(a) ?@ % FLATER 3787 & JHATAR/Parallel to the vertical axis of cone
(b) Qi‘f o FLATER 3787 & od/Perpendicular to the vertical axis of cone
(c) %@ % FEATER 3787 & 3MAd/Inclined to the vertical axis of cone

(d) Q'@ & YR & FATI/Parallel to the base of the cone

3ierhs &, FAeafaf@a # ¥ 5 ¢ IR &1 “Mass properties’ ToT gT ST Tohall 82

In Autocad, which of the following tool bars can be called as ‘Mass properties’ tool?

(a) 3IRG/MDraw (b) FUR/Modify
(¢) HI=IH/Standard (d) STFar/Inquiry

fohe JMERr &1 3TANRT R A% F Dowion qare Fova AL &2

Using which command, it is not possible to make a frustum of a cone?

(a) owe/Loft (b) Rarea/Revolve
(c) USFHES/Extrude (d) Fd9/Sweep
3erhs A, gy s & fav ag Wl —— |

For polar co-ordinate, in Autocad the syntax is
@ @ FIOT < {ﬁ/@ angle < distance b @ qﬂ < IUT/(@ distance < angle
() @PIoT > {ﬁ/@ angle > distance d @ E{ﬂ > &hIUT/@ distance > angle

frrfaf@a & @ wlq-ar gaeaw gum ofd a1 s 71fy & aRafda w=ar &2

Which of the following assembly converts rotational motion to linear motion?

(a) ¥R F=R/Spur gear (b) & g difaTs/Rack and pinion
(c) dad fTRR/Bevel gear (d) gferrer Fra/Helical gear
17
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67.

68.

69.

70.

%Wﬁmﬂmﬁ@m%ﬁﬁvﬁmm%’l

Balancing mass is provided at the crankshaft for

(@ Tafdst & 9r & HFQT%IFI' &<=1/balancing weight of cylinder
(b) T3 F gIAT EI;Uﬁ' H ar_'%'/increasing mass moment of inertia

(c) % AU &F Scohal ZedANA H Hcelel/balancing eccentric mass of crank shaft

(d) é‘?-'l?l &TH AT H Elcﬁ'/increasing fuel efficiency

e wdw [ @ s e &

The drawing symbol represents [ /

(a) TRAFITT/Symmetry (b) 3TATA/Inclination
(c) HATRAN/Parallelism (d) P IOT-3T3E/Total run-out

F=fof@a & 8 g 3mEr gds 7 3mur a6 22

Which drawing symbol has no datum in the following?

(a) TUfA/Position (b) Ed/Perpendicularity
(c) TATAN/Parallelism (d "HJE/Flatness
foT 7 T 71T 3R gsdia weTar & T udie A ———— @ g §

In the symbol for surface roughness as shown in figure, A represents

s

l l

(a) wfaeell sEmS/Sampling length
(b) FEAT TEAT/Roughness number
(c) M faf/Machining method
(d) o & fG2M/Direction of lay

18
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71. YR O ‘4 qr fAde des L wied REfda oF & ug 569 AB ————F

The arc length AB of the developed cone with base diameter ‘d’ and slant length ‘L’ is

AN

— d—>

() nd () wda
() dxL (d mdr
72. THATS YUl H g Y 36— 5
Unit of pressure in SI system
(a) Kgf/mm® (b) UIEHel/Pascal
() Yce/Newton | (d) drg/Watts
7. a8 et X —————a S e ¥

The weld symbol >K represent

(@ & & 97 dea/Double V Buttweld  (b) ¥dIC de3/Spot weld

(c) froalc des/Fillet weld (d) & I FE/Double U butt
74, AT & @ v BD fr Fa§ ——§

The height of BD shown in figure is

100

309 (450
A B 50
(@ 25 (b) 50
(¢ 75 (@ 100

A 19 1305/16



Simplify ;% +§_%
9 8 5 7
@ = ® 5 © = @ 4
(2.1) (2.1) + 2 (2.1) (1.9) + (1.9) (1.9) & T FL
Simplify : (2.1) (2.1) +2 (2.1) (1.9) +(1.9) (1.9)
(a) 14.395 (b) 16
(c) 0.04 (d 4
sin 90° T AT —— B
The value of sin 90°is? :
(@ 172 (b) 0
© 1 @ Z
el TEAT3T &7 SIS 15 JAT 3+7hT 3R 5 &1 595 & 997 9 a1 ———— §l
Sum of two numbers is 15 and their difference is 5. The larger number is
(a) 10 {B) 5
(c) 20 ‘ . (d) 15

al B &I FEIS 3: 7% Ui A g IR ggd O3 HT Sers 12 AL g Al g o
oars fhasr i

Lengths of two rods are in the ratio 3 : 7. If the length of the first rod is 12 m, what will be
the length of the second rod?

@y Zlham - (b 36m
(¢) 7m (d 28m
3.6% — 1.47

(3.6 —1.4) el

3.62 - 147 .

(3.6 — 1.4)

(@ 5 (b) 25
(c) 22 @ 1

20 1305/16



